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1. General 11
Which of the following statements is true?

Student Value Correct Answer Feadback
Response

&1 A. Youshould 100% P4
try to
simplify
both sides
of an
equation
before
solving it.

B. You should
never
simplify in
an equation
that you are
going to
solve.

C. If you are
going to
solve an
equation,
you must
simplify
something
first.

D. You should
solve the
equation
before
trying to
simplify the
expressions.
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Score: 1/1

Override score: l WAL

Comments for
Student

2. General13
When asked to find the GCF of 2 or more terms, you should be looking for what?

Student Value Correct Answer Feedback
Response

A. The most
variables in
each term.

B. The
smallest
factor
(other than
one) that
will divide
exactly into
each
coefficient.

# C. Ineach 100% [
term, the
largest
factor of
the
cocfficients
and the
variables. N . e .

D. Ineach
term, the
highest
coefficient
and
exponent.

Score: 1/1

Override score: I o x

Comments for
Student

=]
=

s mans
What should the FIRST step be when asked to factor a polynomial?

Student Value Correct Answer Feedback
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Response

i A. Look for 100% =
the greatest
common
factor of all
the terms.

B. Look for 2
factors the
equals the
last
coefficient
that also
adds up to
the middle
coefficient.

C. Multiply
the first
coefficient
with the
last
coefficient.

D. Look for
product of
2 factors
that equals
the leading
coefficient.

score! 1/1

Override score: l /1%

Comments for ,:J
Student

R
What is the GCF of the following expression: 12x +16y

Student Value Correct Answer Faeadback
Response

@A 4 100%  ®

o

T

Score: 1/1

Override score: 71
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Comments for _:j
Student
d
5. GCF8

What is the GCF of the following expression: 24x%y° —32x7 y*

Studer;’;: Value Correct Answer Feedback
Response

& A. 8x2y3 100% 7
8. 125° y
C 6x3y3

D4xy

Score: 1/1

Override score: I 1%

Comments for R
Student

6. GCFandor Bi 9

Factor completely: 20 ;2 —0x—18

Student Respense Value Correct Answer Feedback

B A (4x+3)(5x—6) 100% o]

B (_-qtml;muﬁ)(5-x+3}
c (10; 3)(2.x+6}
D (4x—3)(55+6)

Score; 1/1

Qverride score! ] S/ 1*

Comments for
Student

7. GCF andor Bi 3

Factor completely: 8 xz +4x4+6

Student Response Value Correct Answer Feedback

|
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DA 24 20 4+3) 10O%

.. 4(4x +x-k2)
< (2x+ 3)(4x+2)
D. 2(2x +3) (2x+1}

Score: 1/1

Override score: | f1E

Comments for _,.;I
Student

3 e Iaenhf ’ iBlzw U

Identify a factor of this trinomial: 3 2 +11x—4

Student Value Correct Answer Feedback
Response
Gx+4)
@ B (35_ 1} _100% ﬁ
c (Bx 4}
. (x—4)
Score: i/1

Override score: l ) 1x

Comments for
Student

a

Lo L

9 ; Identl%yl B. 5 e

Identify a factor of this {rinomial: 9 2 432 —20

a Student Vaiue Correct Answer Eeedback
Response
A Gx+5)
%} B (Slx jm) 0% e e i .
c (31-%4)
0. (35—4) &
Score: 0/1
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10.

11.

Override score. | ] 1*

Comments for o
Student _j

Reduce 4
2x° +11x+5
252 —5x-3

Simplify:

Page 6 of 9

Student Value Correct Answer Feedback
Rasponse

BOA x5 100% [

W
o —hx-3
e

=3

x=3

- x“+5
x+3

Score: 1/1

Override score: I Ji*

Comments for "
Student 2l

Reduce 5

3% —dx+l

Simplify: —5————
x°=2x+1

Student  Value Correct Answer Feedback
Response

A 3x+1
x+1

B 3x-4
*—2

& ng__l o w

x-r
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D.

Bt
[

|

b

...|..
Score: 1/1

Override score: I YA S

Caomments for
Student

e

12. Solve by facteasy3
Solve: % +10x—24 =0

Student Response Value Correct Feaedback
Answer

A x=-12 and x=-2
B x=8and x=-3

BC e tgs ey woow B

B

Score: i/1

Override score: I J 1*

Comments for
Student

13 Solve by féc.t hard5

Soive: 10x” +9x-9=10

Student Response Value Correct Answer Feedback
B A 3 3 100% [
X=—aud x=——
5 2 |
B 3 3
X=——and xX=—
3 2
¢ 5 2
X=——and x=—
3
D. 2
xX=—aqudx=——
3 . o
Score: i/1
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Qverride score! | J1*

Comments for |
Student 'ﬂ

14. Solve by facthard2
Solve: x° —8x+1=10

Page 8 of 9

Student Response Value Correct Feedback
Answer

A. —3 czm:ofx— 2

100% @ e e e

1
3 2

X=—-—and x= —-l
3 2

. s=3and x=2

Score!: 1/1

Override score: l R A &

Comments for | :
Student 'fJ

15 Factor by group
Factor completely: ¢+ 5a+ 3m+15

Student Response Value Correct Answer Feadback

%A (a+3)(m+5) 100% B
B (cz+1)(m+15) |

c (am+3)(ma+5)

D (g+5) (m+3)

Score: 1/1

Override score: i AL

Comments for i
Student :j
=

Total score: 14/15 = 93.3333% Adjust total score by: 50.0 * |

http://webct6.valenciacc.edu/webct/urw/1c400935421031.tp40094194301 1 /viewSubmission.dowebctatte

5/12/2008



View Attempt Page 9 of 9

B
d
Audit log _:]
comments: T
:J

Audit comments will on'ly be saved when a grade change has been made.

*Scores will be rounded to 4 decimal places.

Update Grade ] [ Reset Attempt l | Cancel
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